תרגיל 11  
Problem 1:

A sample of 25 points shows a correlation coefficient of 0.84. What is the 95% confidence interval for the correlation coefficient in the population?
Problem 2
You are given a sample of 18 data points 
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 from a large population. Among these, you find that  , [image: image2.png]s, = 2.14
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 , and r = 0.45. 

a) Find the equations of the best-fit regression line [image: image5.png]


 . 

b) What fraction of the variation in y is ``explained'' by the variation in x? 

c) Can we conclude, with 95% confidence, that x and y are correlated? 

שאלה מס' 3
במטרה לבחון את השפעת חוסר השינה על ביצוע טעויות במבחנים, נלקח מדגם אקראי של 10 סטודנטים, ולהלן הנתונים שנאספו:

	X- מספר שעות ללא שינה
	8
	12
	16
	20
	24

	Y- מספר הטעויות
	8, 6
	10, 6
	14, 8
	14, 12
	16, 12


(   נבא כמה טעויות יבצע סטודנט שלא ישן 10 שעות.













